AL sk It e A S SR 2RIEE

> =
> E:
> "2 S 85
> gE AN

g71&o 2 Jdshd 10,10,9,9,9,8,8,7,7,6 0] L2 Fokzk
819 _g501m Zumzte golct.

rlo




ol

=0
Tor

s

3 Holt}. of

A 6 go| BRAE 24

1 5}

Loy

H
ojn

73

68, 75, 78, 80, 65, 72

stofet,

S

q_

=
73

=

B2A

8 + 75+ 78 + 80 + 65 + 72

B

g

g]

It
o




o

7

80

88

o

<k

o]

87

o
=

&R

<

el

)
H
S
=l
iz

ul
KO

0 oJrt.

=
—

o] Bk
A4T 85 Aol

St
ol

2~
e

0 olc}. whatA

o2

7o)

=

13
of

o] 85 4 o|Bng =

= 9.5 o]t}

440+9+25
4




2 342 209 ] SoHAY] oo
P4 209 9] SoH] H4e] Hat

HaE Az A2

T

¢

B
AN

@ 1.1, V1.1 @ 1.2, V1.2 N F

6 7 8 9 10
® 1.3, V1.3 @1.4, Vi4 A2 a)
® 1.5, V15

S N B O 00—

~&B \

e 6X3+TX3+8XT+9IX5+10x%x2 _3g
20

Wzt -2, -1,0, 1, 2

C(22x34(-1)2x3+5+22x2

: 5 -

14




ohe 2FA /AQC = 50°, /BOC = 40° & ©f, /APB ¢ 3712
ot et

HAAGHOEo2H /AOC = 100°
/AOB = 60°

- LAPB = % x60°=30°




6. o IelA @ ABE €0 9 F4& AU BED = 50° 4 o,
/ACD ¢] 271 Fstoiet.

i
o

>
> "El 400

HASEEo]oH

/AEB = 90° 0|2 &

/AED = 40° o]t}

w2t /ACD = £/AED = 40° ©|t}.




7. e I"9 F dol & A P,Q oA A= Thil [PAB = 85°,
/ABQ = 80° ¥ W, sx &] 27|E Fotoiet.

/ABQ = /DPQ = 80°
- Lx = 180° — 80° = 100°




8. O IdHNA x o] groz It A7 vraA| AAjo] i 227

138

(1) xx3=5%6,3x=30 - x=10
(2) 10(10 + 12) = 9(9 + x)
81 + 9x = 220

9x = 139
oo 139
)




ke 124 PT7H 9 09 BAo]
W, AB = 9 09 AEo|th. AP =
4, OA — 69 o, x 9 22 73}o]
2

B :
PT° =PAxPB °|R&
x?2=4x(4+6+6) °|t}.
x2 =64
T x=38




10. o= I 2x & 27]1E F5HH?

D)26° @ 28° ® 30°

SEOE C
@ 32° ® 34° v
A B
3 BC o st /BOC & S4Zolal /CAB + 95Zo|tt

IX = %[COB = 26°




11. th& 14 AB//TD, 5.0ptAC =
N
5cm, 5.0ptAB = 8cm ¥ T, 5.0ptBD
o] o]
@50111 @ 6cm ® 7cm

@ 8cm ® 9cm

B

4 ASDEC°SH /BAD =
(CDA (97})

/N N\
5.0ptAC = 5.0ptBD 9] ¥F2+9]
=M iden=g=,

/N N\
5.0ptAC = 5.0ptBD = 5(cm)




12.

ThS 2204 5.0ptAC = dem | 5.0ptBD = 5em , /DCB = 25° <

o, ZAPC ©] 27|17

@ 35° @45° ® 55° @ 65°

® 75°

B

VY N
5.0ptAC : 5.0ptBD = £ABC : /BCD
4:5=/ABC:25°
.. LABC = 20°
.. LAPC = /PBC + /PCB = 20° + 25° = 45°




13. o2 2894 Y AH A, B, C, D7}
2 flofl 7] ATk x O] A7E
“FobH?

D 21° @22° ® 23°
@ 24° (® 25°

B

/APC + /ACP = /DAC

40° + LACP = 62°

. LACP =22°

5.0ptABe] Tt 9F2He ook stz
[x =22°




14.

O O oA x 9 327

@ 35

Tx3=(5-x)(5+x)
21=25-x%x*>=4
x=2("x>0)




15. ™A x o gt27? (&, PC = HAdoltth)

@1 @ 2 ® 3 @)4 ® 5

PC’ =BC xAC

36 = BC(BC + 5)
BC” +5BC-36 =0
(BC+9)(BC-4) =0
~BC=4




16. tt& 1FHoA PA = 6, PT = 4 0|1 /APT

2, AB =
30°, /BAT = 65° o]t}. 9]

ol o, /PBT 9] 2717

2)35° @ 40° @ 45° ® 50°

PT =

i

9

PT° = PAxPB = 42 —2x8 o] Adslnz

HAolot.
wtetA, Z/ABT = £ATP = 65° — 30° = 35° ©]c}.




17. e ado)H PQ 7L 5 o 3Eo=
Aok G4 o), OT 9] Zol=9

10
@) gcm @ 4cm
14 16
©) 5 om @ 5 om
® 6cm

B

(/TAC = /TBD, /TCA = /TDB
8:6=CT:4
6CT = 32

16

SO = 3 (cm)




18.

A40] 4 3]0 AR 428 AJ A 0] 80,82,86,76 °|t. tha AlAA Z
& ook Bato] 8450] HAE=71

®od @i owud @wd ©sd

B

gl wolo} & A48 vHolekn s

_ 2
(B)= 80+ 8 +§6+76+x:84
324 + x
=84
5
324 + x = 420

Lx=96(4)




19. 57891 ¥ 4,6,10,x,99) Fo] 79, BATL?

® 4.1 @ 4.3 ® 4.5 @ 4.7 3)4.8

B

Foil WiTFe] Hato] 7o|B =
44+6+10+x+9
: =7
294 x =35
L x=06
o] MAtE -3,-1,3,-1,20| B2 HAk2
(=32 +(-1*+3%+(-1)2+2>2  9+14+9+1+4
5 B 5
24
5 =48




20.

5700] W 3,a,4,8,b0] Bo] 5013 EATe] 3L ), a2 452 ©] S

Jajolat,

> E:

> =g 51

44 (a-52%+1+9+(b-5)%=15
(@-5)2+((b-52%=1
a’+b*-10(a+b) +50 =1
a®+b%-10(10) + 50 = 1
sa?+b? =51




roret.

=]
=4

86 A ofef =2 o}

=

—

2p7} 5 o]B 2 85 HHT}H

© Sl%e]9] Aol o
oln= 86 A ol A=

CEED

oln -
: 5
Y -
= H
w Ay
ol o %
= & |
N ok
o 1D|
Lo 23k 5 ¥ 5 5
o 3
Tor H T T 3
&u Mﬂ_.__. Lo q_' M_wl nym m_. ,‘._%
=od T2 Bl * = = 3 = 8
3 7A| X 2o Mom ™9
oy N N X Gl Ao
mn o s <F M it X
N L e _Mm Towmor m o
B |l e o R ,
jo —_— ].wuﬂ
= 0 5T et 5
m ol T R n_Mo g ® @
0 o 10 =]
G © ~ R T @ ® i
o ol o Al o o =
L_L Of_m A_._u o .A_._u A_._u o . o . o .Mv_._u
s z_.o o T 0 = ul ul ul ul or
R0 RO w°
m_lu M © 90 0 @ O A A A A ©
—



22.

4709 WF a,b,c,d 2] Bdo] 100]
a+5b+5c+5d+59 B4 &

>
>

[> ®Ef B 15
> mef: BEEA 3

A7 3 o, Wk
NEEREE SR

R

H

#:1-10+5=15
FEA(-3=3




23. o ™A x o 271 Fohodzt

>
> =t 18°

/BAD + /C = 180° o|BE&
(BAD = 100°
x = LADB = 180° - 62° — 100° = 18°




24.

2 13 o|A gABCD = o Ui
Hsta /BPC = 23°, /BQA =
35°/ABC = x° 4 of, x o] &S +
Shojzt.

\ 4
L
| o

(ABC = x 2} 5}

(PCQ = x°+23°,/PBC = /CDQ = x° °] 1,

ADCQ o] Al WZte] 3719] f2 x°+ (x°+23°) +35° = 180°
oepA x° = 61° otk




25. "I} 2ol ¥ O 7t aABC ol AT o, /A o] 7|2 HIE FH29
B ~— ’ c
78.68°

@® 111° (@)112O ® 113° @ 114° ® 115°

(BDF = 78° o /B =24°
(EDC = 68° o L0 = 44°
o LA = 180° —24° — 44° = 112°




